
NTS

REV:

DATE:CHECKED:

Toronto - Ontario - Canada

BY:

Mobile Climate Control Inc.
 

DWG:
SYM

6

30 DATE:

SCALE:

METRICREVISION
DESCRIPTION DATE BY

THIS PRINT IS PROVIDED ON A RESTRICTED BASIS 

AND IS NOT TO BE USED IN ANY WAY DETRIMENTAL

TO THE INTEREST OF MOBILE CLIMATE CONTROL

TOLERANCE UNLESS OTHERVISE SPECIFIED

ANG.

1 0.2 0.5 0.8 1.2 2 3 40.15

0.5

3

30

120

120

315

315

1000

1000

2000

OVER

2000

3

6

M
C
C
 
3
7

DEFROSTER 24V
0

BV

6/29/2005

Adm 1/13/2010

13-14206E

13-14206E_.idw

CCF 1/16"X1/2"NS-0114651

CCF 3/16"X3" (700mm)NS-0071150

OCF 1.4"X3.75" (760mm)NS-0015149

CCF 3/16"X1.5" (760mm)NS-0004148

ATM ASSY.35-0515247

SCREW M4x25 PHL. CL ZN29-1081346

M5x30 SCREW29-0885145

#10 FLAT WASHER29-0768144

STUD BAIL STYLE RA29-0711143

SCREW M4x20 PHL CL ZN29-0480442

M4x8 YELL. CROM. TAP.29-04484841

#4 FLAT WASHER29-0358440

LOCK NUT #4-40 29-0344439

BOLT M6x30 C. ZN.29-0190238

NUT M429-0177237

WASHER M429-01761336

SCREW M4X12 PHL. CL ZN29-0173835

SCREW #4-40X3/4"29-0157434

NYLON SPACER 1/2"29-0124333

NYLON SPACER 1/4"X1/2"29-0123432

RETAINER29-0077131

RECEPTACLE29-0075130

NYLON CABLE CLAMP28-0726429

SPACER 1/4''28-0334428

3/16" SNAP BUSHING28-0326127

INSULATION 1/4"28-0126126

GROMMET 3/8"28-0014125

O-RING #827-0602224

AIR FILTER ASSY26-1209123

AIR FILTER ASSY26-1208322

BLOCK VALVE26-0190121

WIRING HARNESS25-1846120

THERMOSTAT25-1163119

RELAY 24V25-1124818

MOTOR ACTUATOR 12V25-1113117

FILTER BRACKET24-6847116

VALVE BRACKET24-6846115

TOP COVER BACK24-6845114

TOP COVER FRONT24-6844113

FLAPPER DOOR24-6793112

COVER24-6792111

BLOWER BRACKET24-6790110

BLOWER BRACKET24-678919

CASING24-678718

COVER24-678517

COVER24-678426

AIR DISTRIBUTOR23-034315

DEFROST DUCT23-034214

HEATER COIL22-075623

EVAPORATOR COIL21-111512

BLOWER 24V15-153821

DESCRIPTIONPART NO.PCSSYM

26

12

23

27

7

18

40

11

4

29

9

31

36

35

144110

324742

19

5

6

24

38

21

15

13

49

22 43 16

31 30

2

50

34

48

39

37

4546 44

17 33

41

36

36

47

32

42

8

39

41

41

36

41

35

41

41

292840

51

51

51

51

51

28

20
25

34

41
51


